

Coefficient estimates and Fekete-Szegő inequalities for a new subclass of m -fold symmetric bi-univalent functions satisfying subordinate conditions

Eszter Gavriş^{a,*}, Şahsene Altınkaya^b

^aDepartment of Mathematics, Faculty of Mathematics and Computer Science, Babeş-Bolyai University, Cluj-Napoca, Romania

^bDepartment of Mathematics, Faculty of Arts and Sciences, Beykent University, Istanbul, Turkey

(Communicated by Mugur Alexandru Acu)

Abstract

In this paper, we introduce a new subclass of the class of m -fold symmetric bi-univalent functions and obtain estimates of the Taylor-Maclaurin coefficients $|a_{m+1}|$, $|a_{2m+1}|$ and Fekete-Szegő functional problem for functions in this new subclass. The results in this paper generalize some of the results of Huo Tang et al. [18], Altınkaya and Yalçın [3].

Keywords: analytic functions, bi-univalent functions, m -fold symmetric functions, subordination, coefficient estimates, Fekete-Szegő problem

2020 MSC: Primary 30C45, 30C50; Secondary 30C80

1 Introduction

Let \mathcal{A} denote the class of analytic functions in the open unit disk $\mathbb{U} = \{z \in \mathbb{C} : |z| < 1\}$, which are of the form:

$$f(z) = z + \sum_{k=1}^{\infty} a_{k+1} z^{k+1}, z \in \mathbb{U}.$$

The class of functions in \mathcal{A} , which are univalent in \mathbb{U} is denoted by S . Every function $f \in S$ has an inverse f^{-1} defined by

$$f^{-1}(f(z)) = z \quad (z \in \mathbb{U})$$

and

$$f(f^{-1}(w)) = w \quad (|w| < r_0(f); r_0(f) \geq \frac{1}{4}),$$

where

$$f^{-1}(w) = w - a_2 w^2 + (2a_2^2 - a_3) w^3 - (5a_2^3 - 5a_2 a_3 + a_4) w^4 + \dots$$

*Corresponding author

Email addresses: szatmari.eszter@math.ubbcluj.ro (Eszter Gavriş), sahsenealtinkaya@beykent.edu.tr (Şahsene Altınkaya)

A function $f \in \mathcal{A}$ is said to be bi-univalent in \mathbb{U} if both $f(z)$ and $f^{-1}(z)$ are univalent in \mathbb{U} . The class of bi-univalent functions in \mathbb{U} is denoted by Σ .

A function is said to be m -fold symmetric (see [14]) if it has the following normalized form:

$$f(z) = z + \sum_{k=1}^{\infty} a_{mk+1} z^{mk+1} \quad (m \in \mathbb{N}, z \in \mathbb{U}). \tag{1.1}$$

The class of m -fold symmetric univalent functions, which are normalized by the above series expansion (1.1), is denoted by S_m . The functions in the class S are one fold symmetric. Analogous to the concept of m -fold symmetric univalent functions, is defined the concept of m -fold symmetric bi-univalent functions. Each function f in the class Σ generates an m -fold symmetric bi-univalent function for each positive integer m . The normalized form of f is given in (1.1) and f^{-1} is given in the followings.

$$g(w) = w - a_{m+1} w^{m+1} + [(m+1)a_{m+1}^2 - a_{2m+1}] w^{2m+1} - \left[\frac{1}{2}(m+1)(3m+2)a_{m+1}^3 - (3m+2)a_{m+1}a_{2m+1} + a_{3m+1} \right] w^{3m+1} + \dots, \tag{1.2}$$

where $f^{-1} = g$. The class of m -fold symmetric bi-univalent functions is denoted by Σ_m .

Recently, many authors investigated estimates of coefficients and Fekete-Szegő functional problem for subclasses of m -fold symmetric bi-univalent functions ([1], [2], [4]-[10], [12], [13], [15]-[24]).

Forwards, we need the notion of subordination.

Definition 1.1. [11, p. 4] Let f, F analytic functions in the open unit disk \mathbb{U} . The function f is said to be subordinate to F , written $f \prec F$, or $f(z) \prec F(z)$, if there exists an analytic function w in the open unit disk \mathbb{U} , with $w(0) = 0$ and $|w(z)| < 1, z \in U$, such that $f(z) = F[w(z)], z \in \mathbb{U}$.

H. Tang *et al.* [18] introduced the following subclasses of m -fold symmetric bi-univalent functions.

Definition 1.2. [18, Definition 1, p.1066] A function $f(z)$, given by (1.1), is said to be in the class $\mathcal{H}_{\Sigma,m}(\phi)$, if the following conditions are satisfied:

$$f \in \Sigma_m, \quad f'(z) \prec \phi(z) \quad \text{and} \quad g'(w) \prec \phi(w),$$

where the function $g(w)$ is defined by (1.2).

Definition 1.3. [18, Definition 3, p. 1078] A function $f(z)$, given by (1.1), is said to be in the class $\mathcal{M}_{\Sigma,m}(\lambda, \phi)$ if the following conditions are satisfied:

$$f \in \Sigma_m, \quad (1 - \lambda) \frac{zf'(z)}{f(z)} + \lambda \left(1 + \frac{zf''(z)}{f'(z)} \right) \prec \phi(z)$$

and

$$(1 - \lambda) \frac{wg'(w)}{g(w)} + \lambda \left(1 + \frac{wg''(w)}{g'(w)} \right) \prec \phi(w),$$

where the function $g(w)$ is defined by (1.2).

Ş. Altınkaya and S. Yalçın [3] introduced the following subclass of bi-univalent functions.

Definition 1.4. [3] A function $f \in \Sigma$ is said to be in $S_{\Sigma}(\lambda, \phi), 0 \leq \lambda \leq 1$, if the following subordinations hold

$$\frac{zf'(z) + (2\lambda^2 - \lambda)z^2f''(z)}{4(\lambda - \lambda^2)z + (2\lambda^2 - \lambda)zf'(z) + (2\lambda^2 - 3\lambda + 1)f(z)} \prec \phi(z)$$

and

$$\frac{wg'(w) + (2\lambda^2 - \lambda)w^2g''(w)}{4(\lambda - \lambda^2)w + (2\lambda^2 - \lambda)wg'(w) + (2\lambda^2 - 3\lambda + 1)g(w)} \prec \phi(w),$$

where $g = f^{-1}$.

Motivated by the definition of the above subclass of bi-univalent functions, we introduce below a new subclass of m -fold symmetric bi-univalent functions in a similar manner.

Definition 1.5. A function $f \in \Sigma_m$ said to be in the class $S_{\Sigma_m}(\lambda, \phi)$, $0 \leq \lambda \leq 1$, if the following subordination conditions holds

$$\frac{zf'(z) + (2\lambda^2 - \lambda)z^2f''(z)}{4(\lambda - \lambda^2)z + (2\lambda^2 - \lambda)zf'(z) + (2\lambda^2 - 3\lambda + 1)f(z)} \prec \phi(z)$$

and

$$\frac{wg'(w) + (2\lambda^2 - \lambda)w^2g''(w)}{4(\lambda - \lambda^2)w + (2\lambda^2 - \lambda)wg'(w) + (2\lambda^2 - 3\lambda + 1)g(w)} \prec \phi(w)$$

where $g = f^{-1}$.

Remark 1.6.

$$S_{\Sigma_m}(0, \phi) = \mathcal{M}_{\Sigma,m}(0, \phi)$$

$$S_{\Sigma_m}\left(\frac{1}{2}, \phi\right) = \mathcal{H}_{\Sigma,m}(\phi)$$

$$S_{\Sigma_m}(1, \phi) = \mathcal{M}_{\Sigma,m}(1, \phi)$$

$$S_{\Sigma_1}(\lambda, \phi) = S_{\Sigma}(\lambda, \phi)$$

In the followings, we introduce a function ϕ used in [18].

ϕ is an analytic function with positive real part in the unit disk \mathbb{U} such that

$$\phi(0) = 1 \quad \text{and} \quad \phi'(0) > 0$$

and $\phi(\mathbb{U})$ is symmetric with respect to the real axis. This function has a series expansion of the form:

$$\phi(z) = 1 + B_1z + B_2z^2 + B_3z^3 + \dots \quad (B_1 > 0).$$

Let $u(z)$ and $v(z)$ be two analytic functions in the unit disk \mathbb{U} with

$$u(0) = v(0) = 0, \quad \max\{|u(z)|, |v(z)|\} < 1,$$

and

$$\begin{aligned} u(z) &= b_mz^m + b_{2m}z^{2m} + b_{3m}z^{3m} + \dots, \\ v(w) &= c_mw^m + c_{2m}w^{2m} + c_{3m}w^{3m} + \dots. \end{aligned}$$

We have the following inequalities

$$|b_m| \leq 1, |b_{2m}| \leq 1 - |b_m|^2, |c_m| \leq 1 \text{ and } |c_{2m}| \leq 1 - |c_m|^2. \tag{1.3}$$

By simple computations, are obtained the followings

$$\phi(u(z)) = 1 + B_1b_mz^m + (B_1b_{2m} + B_2b_m^2)z^{2m} + \dots \quad (|z| < 1) \tag{1.4}$$

and

$$\phi(v(w)) = 1 + B_1c_mw^m + (B_1c_{2m} + B_2c_m^2)w^{2m} + \dots \quad (|w| < 1). \tag{1.5}$$

2 Main results

We begin this section by finding the estimates on the coefficients $|a_{m+1}|$ and $|a_{2m+1}|$ for functions in the class $S_{\Sigma_m}(\lambda, \phi)$.

Theorem 2.1. Let the function $f(z)$, given by (1.1), be in the class $S_{\Sigma_m}(\lambda, \phi)$. Then

$$|a_{m+1}| \leq \frac{B_1 \sqrt{2B_1}}{\sqrt{|\beta(m+1) - 2\alpha\gamma| B_1^2 - 2\alpha^2 B_2} + 2B_1 \alpha^2} \tag{2.1}$$

and

$$|a_{2m+1}| \leq \begin{cases} \frac{(|\beta(m+1) - \alpha\gamma| + |\alpha\gamma|) B_1}{|\beta(\beta(m+1) - 2\alpha\gamma)|}, \\ \text{if } |\beta|(m+1)|B_2| \leq (|\beta(m+1) - \alpha\gamma| + |\alpha\gamma|) B_1 \\ \frac{(|\beta(m+1) - \alpha\gamma| + |\alpha\gamma|)|(\beta(m+1) - 2\alpha\gamma)B_1^2 - 2\alpha^2 B_2| B_1 + 2\alpha^2 |\beta|(m+1)|B_2| B_1}{|\beta(\beta(m+1) - 2\alpha\gamma)| (|\beta(m+1) - 2\alpha\gamma| B_1^2 - 2\alpha^2 B_2) + 2B_1 \alpha^2}, \\ \text{if } |\beta|(m+1)|B_2| > (|\beta(m+1) - \alpha\gamma| + |\alpha\gamma|) B_1 \end{cases}, \tag{2.2}$$

where

$$\begin{aligned} \alpha &= m + 2\lambda^2 m^2 - \lambda m^2 - 4\lambda^2 + 4\lambda, \\ \beta &= 2(m + 4\lambda^2 m^2 - 2\lambda m^2 - 2\lambda^2 + 2\lambda), \\ \gamma &= (2\lambda - 1)((m + 2)\lambda - 1). \end{aligned}$$

Proof . Let $f \in S_{\Sigma_m}(\lambda, \phi)$. Then there are analytic functions $u : \mathbb{U} \rightarrow \mathbb{U}$ and $v : \mathbb{U} \rightarrow \mathbb{U}$, with

$$u(0) = v(0) = 0,$$

satisfying the following conditions:

$$\frac{zf'(z) + (2\lambda^2 - \lambda)z^2 f''(z)}{4(\lambda - \lambda^2)z + (2\lambda^2 - \lambda)zf'(z) + (2\lambda^2 - 3\lambda + 1)f(z)} = \phi(u(z)) \tag{2.3}$$

and

$$\frac{wg'(w) + (2\lambda^2 - \lambda)w^2 g''(w)}{4(\lambda - \lambda^2)w + (2\lambda^2 - \lambda)wg'(w) + (2\lambda^2 - 3\lambda + 1)g(w)} = \phi(v(w)). \tag{2.4}$$

Since

$$\begin{aligned} &\frac{zf'(z) + (2\lambda^2 - \lambda)z^2 f''(z)}{4(\lambda - \lambda^2)z + (2\lambda^2 - \lambda)zf'(z) + (2\lambda^2 - 3\lambda + 1)f(z)} = \\ &1 + \alpha a_{m+1} z^m + (\beta a_{2m+1} - \alpha \gamma a_{m+1}^2) z^{2m} + \dots \end{aligned}$$

and

$$\begin{aligned} &\frac{wg'(w) + (2\lambda^2 - \lambda)w^2 g''(w)}{4(\lambda - \lambda^2)w + (2\lambda^2 - \lambda)wg'(w) + (2\lambda^2 - 3\lambda + 1)g(w)} = \\ &1 - \alpha a_{m+1} w^m + \left((\beta(m+1) - \alpha\gamma) a_{m+1}^2 - \beta a_{2m+1} \right) w^{2m} - \dots, \end{aligned}$$

from (1.4), (1.5), (2.3) and (2.4), we find that

$$\alpha a_{m+1} = B_1 b_m, \tag{2.5}$$

$$\beta a_{2m+1} - \alpha \gamma a_{m+1}^2 = B_1 b_{2m} + B_2 b_m^2, \tag{2.6}$$

$$-\alpha a_{m+1} = B_1 c_m \tag{2.7}$$

and

$$(\beta(m+1) - \alpha\gamma) a_{m+1}^2 - \beta a_{2m+1} = B_1 c_{2m} + B_2 c_m^2. \tag{2.8}$$

From (2.5) and (2.7), we get

$$c_m = -b_m. \tag{2.9}$$

By adding the equations (2.6) and (2.8) and, upon some computations using (2.5) and (2.9), we obtain

$$\left((\beta(m+1) - 2\alpha\gamma)B_1^2 - 2\alpha^2B_2 \right) a_{m+1}^2 = B_1^3 (b_{2m} + c_{2m}). \tag{2.10}$$

Further, the equations (2.9), (2.10), together with the equation (1.3), yield

$$\left| \left((\beta(m+1) - 2\alpha\gamma)B_1^2 - 2\alpha^2B_2 \right) a_{m+1}^2 \right| \leq 2B_1^3 (1 - |b_m|^2). \tag{2.11}$$

Now, from the equations (2.5) and (2.11), we get

$$|a_{m+1}| \leq \frac{B_1\sqrt{2B_1}}{\sqrt{\left| (\beta(m+1) - 2\alpha\gamma)B_1^2 - 2\alpha^2B_2 \right| + 2B_1\alpha^2}},$$

as asserted in (2.1).

By simple calculations from (2.6) and (2.8) and using the equation (2.9), we find that

$$\beta(\beta(m+1) - 2\alpha\gamma)a_{2m+1} = (\beta(m+1) - \alpha\gamma)B_1b_{2m} + \alpha\gamma B_1c_{2m} + \beta(m+1)B_2b_m^2. \tag{2.12}$$

Thus, by using the equations (1.3) and (2.9) in (2.12), we get

$$\begin{aligned} & |\beta(\beta(m+1) - 2\alpha\gamma)||a_{2m+1}| \leq \\ & (|\beta(m+1) - \alpha\gamma| + |\alpha\gamma|)B_1 - (|\beta(m+1) - \alpha\gamma| + |\alpha\gamma|)B_1|b_m|^2 + |\beta(m+1)|B_2|b_m|^2. \end{aligned} \tag{2.13}$$

Since

$$|b_m|^2 \leq \frac{2\alpha^2B_1}{\left| (\beta(m+1) - 2\alpha\gamma)B_1^2 - 2\alpha^2B_2 \right| + 2B_1\alpha^2}, \tag{2.14}$$

upon substituting from (2.14) into (2.13), we are led easily to the assertion (2.2) of Theorem 2.1. This evidently completes the proof of Theorem 2.1. □

Taking $m = 1$ in Theorem 2.1, we obtain the following corollary.

Corollary 2.2. Let the function $f(z)$, given by (1.1), be in the class $S_\Sigma(\lambda, \phi)$. Then

$$|a_2| \leq \frac{B_1\sqrt{B_1}}{\sqrt{\left| (\beta - \alpha\gamma)B_1^2 - \alpha^2B_2 \right| + B_1\alpha^2}}$$

and

$$|a_3| \leq \begin{cases} \frac{(|2\beta - \alpha\gamma| + |\alpha\gamma|)B_1}{2|\beta(\beta - \alpha\gamma)|}, & \text{if } 2|\beta||B_2| \leq (|2\beta - \alpha\gamma| + |\alpha\gamma|)B_1 \\ \frac{(|2\beta - \alpha\gamma| + |\alpha\gamma|)|(\beta - \alpha\gamma)B_1^2 - \alpha^2B_2|B_1 + 2\alpha^2|\beta||B_2|B_1}{2|\beta(\beta - \alpha\gamma)|\left(|(\beta - \alpha\gamma)B_1^2 - \alpha^2B_2| + B_1\alpha^2\right)}, & \text{if } 2|\beta||B_2| > (|2\beta - \alpha\gamma| + |\alpha\gamma|)B_1 \end{cases},$$

where

$$\begin{aligned} \alpha &= 1 + 3\lambda - 2\lambda^2, \\ \beta &= 2(1 + 2\lambda^2), \\ \gamma &= (2\lambda - 1)(3\lambda - 1). \end{aligned}$$

Remark 2.3. The estimate for $|a_2|$ asserted by Corollary 2.2 is obtained in Theorem 1 in [3].

Taking $\lambda = 0$ in Theorem 2.1, we obtain the following corollary.

Corollary 2.4. Let the function $f(z)$, given by (1.1), be in the class $\mathcal{M}_{\Sigma,m}(0, \phi)$. Then

$$|a_{m+1}| \leq \frac{B_1\sqrt{B_1}}{m\sqrt{|B_1^2 - B_2| + B_1}}$$

and

$$|a_{2m+1}| \leq \begin{cases} \frac{m+1}{2m^2}B_1, & \text{if } |B_2| \leq B_1 \\ \frac{(m+1)B_1(|B_1^2 - B_2| + |B_2|)}{2m^2(|B_1^2 - B_2| + B_1)}, & \text{if } |B_2| > B_1 \end{cases}.$$

Remark 2.5. The results of Corollary 2.4 are obtained taking $\lambda = 0$ in Theorem 5 in [18].

Taking $\lambda = \frac{1}{2}$ in Theorem 2.1, we obtain the following corollary.

Corollary 2.6. Let the function $f(z)$, given by (1.1), be in the class $\mathcal{H}_{\Sigma,m}(\phi)$. Then

$$|a_{m+1}| \leq \frac{B_1\sqrt{2B_1}}{\sqrt{(m+1)(2(m+1)B_1 + |(2m+1)B_1^2 - 2(m+1)B_2|)}}$$

and

$$|a_{2m+1}| \leq \begin{cases} \frac{B_1}{2m+1}, & \text{if } |B_2| \leq B_1 \\ \frac{2(m+1)^3|B_2|B_1(2m+1) + |(2m+1)B_1^2 - 2(m+1)B_2|B_1}{(2m+1)(|(2m+1)B_1^2 - 2(m+1)B_2| + 2B_1(m+1))}, & \text{if } |B_2| > B_1 \end{cases}.$$

Remark 2.7. The estimate for $|a_{m+1}|$ asserted by Corollary 2.6 is obtained in Theorem 1 in [18].

Taking $\lambda = 1$ in Theorem 2.1, we obtain the following corollary.

Corollary 2.8. Let the function $f(z)$, given by (1.1), be in the class $\mathcal{M}_{\Sigma,m}(1, \phi)$. Then

$$|a_{m+1}| \leq \frac{B_1\sqrt{B_1}}{m\sqrt{(m+1)(|B_1^2 - (m+1)B_2| + B_1(m+1))}}$$

and

$$|a_{2m+1}| \leq \begin{cases} \frac{B_1}{2m^2}, & \text{if } |B_2| \leq B_1 \\ \frac{|B_1^2 - (m+1)B_2|B_1 + (m+1)|B_2|B_1}{2m^2(|B_1^2 - (m+1)B_2| + B_1(m+1))}, & \text{if } |B_2| > B_1 \end{cases}.$$

Remark 2.9. The results of Corollary 2.8 are obtained taking $\lambda = 1$ in Theorem 5 in [18].

Next we shall solve the Fekete-Szegő problem for functions in the class $S_{\Sigma_m}(\lambda, \phi)$.

Theorem 2.10. Let the function $f(z)$, given by (1.1), be in the class $S_{\Sigma_m}(\lambda, \phi)$. Also let $\delta \in \mathbb{R}$. Then

$$|a_{2m+1} - \delta a_{m+1}^2| \leq \begin{cases} \frac{B_1}{|\beta|}, & \text{for } 0 \leq |h(\delta)| < \frac{1}{2|\beta|}, \\ 2B_1|h(\delta)|, & \text{for } |h(\delta)| \geq \frac{1}{2|\beta|} \end{cases}, \tag{2.15}$$

where

$$\begin{aligned}
 h(\delta) &= \frac{B_1^2(m+1-2\delta)}{2[(\beta(m+1)-2\alpha\gamma)B_1^2-2\alpha^2B_2]}, \\
 \alpha &= m+2\lambda^2m^2-\lambda m^2-4\lambda^2+4\lambda, \\
 \beta &= 2(m+4\lambda^2m^2-2\lambda m^2-2\lambda^2+2\lambda) \neq 0, \\
 \gamma &= (2\lambda-1)((m+2)\lambda-1).
 \end{aligned}$$

Proof . From the equation (2.10), we get

$$a_{m+1}^2 = \frac{B_1^3(b_{2m}+c_{2m})}{(\beta(m+1)-2\alpha\gamma)B_1^2-2\alpha^2B_2}. \tag{2.16}$$

Subtracting (2.6) from the (2.8), we obtain

$$a_{2m+1} = \frac{m+1}{2}a_{m+1}^2 + \frac{B_1(b_{2m}-c_{2m})}{2\beta}. \tag{2.17}$$

From the equations (2.16) and (2.17), it follows that

$$a_{2m+1} - \delta a_{m+1}^2 = B_1 \left[\left(h(\delta) + \frac{1}{2\beta} \right) b_{2m} + \left(h(\delta) - \frac{1}{2\beta} \right) c_{2m} \right],$$

where

$$h(\delta) = \frac{B_1^2(m+1-2\delta)}{2[(\beta(m+1)-2\alpha\gamma)B_1^2-2\alpha^2B_2]}.$$

We know that all B_i are real and $B_1 > 0$, which implies the inequality (2.15). This completes the proof of Theorem 2.10. \square

Taking $m = 1$ in Theorem 2.10, we obtain the following corollary.

Corollary 2.11. Let the function $f(z)$, given by (1.1), be in the class $S_\Sigma(\lambda, \phi)$. Also let $\delta \in \mathbb{R}$. Then

$$|a_3 - \delta a_2^2| \leq \begin{cases} \frac{B_1}{2(2\lambda^2+1)}, & \text{for } 0 \leq |h(\delta)| < \frac{1}{4(2\lambda^2+1)}, \\ 2B_1|h(\delta)|, & \text{for } |h(\delta)| \geq \frac{1}{4(2\lambda^2+1)} \end{cases},$$

where

$$h(\delta) = \frac{B_1^2(1-\delta)}{2[(12\lambda^4-28\lambda^3+15\lambda^2+2\lambda+1)B_1^2-(1+3\lambda-2\lambda^2)^2B_2]}.$$

Taking $\delta = 1$ and $\delta = 0$ in Theorem 2.10, we have the following corollaries.

Corollary 2.12. Let the function $f(z)$, given by (1.1), be in the class $S_{\Sigma_m}(\lambda, \phi)$. Then

$$|a_{2m+1} - a_{m+1}^2| \leq \begin{cases} \frac{B_1}{|\beta|}, & \text{for } 0 \leq |h(1)| < \frac{1}{2|\beta|} \\ 2B_1|h(1)|, & \text{for } |h(1)| \geq \frac{1}{2|\beta|} \end{cases}$$

where

$$\begin{aligned}
 h(1) &= \frac{B_1^2(m-1)}{2[(\beta(m+1)-2\alpha\gamma)B_1^2-2\alpha^2B_2]}, \\
 \alpha &= m+2\lambda^2m^2-\lambda m^2-4\lambda^2+4\lambda, \\
 \beta &= 2(m+4\lambda^2m^2-2\lambda m^2-2\lambda^2+2\lambda) \neq 0, \\
 \gamma &= (2\lambda-1)((m+2)\lambda-1).
 \end{aligned}$$

Corollary 2.13. Let the function $f(z)$, given by (1.1), be in the class $S_{\Sigma_m}(\lambda, \phi)$. Then

$$|a_{2m+1}| \leq \begin{cases} \frac{B_1}{|\beta|}, & \text{for } \frac{B_2}{B_1^2} \in \left(-\infty; -\frac{(m+1)(|\beta| - \beta) + 2\alpha\gamma}{2\alpha^2} \right) \cup \left(\frac{(m+1)(|\beta| + \beta) - 2\alpha\gamma}{2\alpha^2}; +\infty \right) \\ \frac{B_1^3(m+1)}{|(\beta(m+1) - 2\alpha\gamma)B_1^2 - 2\alpha^2B_2|}, & \text{for } \frac{B_2}{B_1^2} \in \left(-\frac{(m+1)(|\beta| - \beta) + 2\alpha\gamma}{2\alpha^2}; \frac{\beta(m+1) - 2\alpha\gamma}{2\alpha^2} \right) \cup \\ \left(\frac{\beta(m+1) - 2\alpha\gamma}{2\alpha^2}; \frac{(m+1)(|\beta| + \beta) - 2\alpha\gamma}{2\alpha^2} \right) \end{cases},$$

where

$$\begin{aligned} \alpha &= m + 2\lambda^2m^2 - \lambda m^2 - 4\lambda^2 + 4\lambda, \\ \beta &= 2(m + 4\lambda^2m^2 - 2\lambda m^2 - 2\lambda^2 + 2\lambda) \neq 0, \\ \gamma &= (2\lambda - 1)((m + 2)\lambda - 1). \end{aligned}$$

Taking $\lambda = 0$ in Theorem 2.10, we obtain the following corollary.

Corollary 2.14. Let the function $f(z)$, given by (1.1), be in the class $\mathcal{M}_{\Sigma,m}(0, \phi)$. Also let $\delta \in \mathbb{R}$. Then

$$|a_{2m+1} - \delta a_{m+1}^2| \leq \begin{cases} \frac{B_1}{2m}, & \text{for } 0 \leq |h(\delta)| < \frac{1}{4m}, \\ 2B_1|h(\delta)|, & \text{for } |h(\delta)| \geq \frac{1}{4m}, \end{cases}$$

where

$$h(\delta) = \frac{B_1^2(m + 1 - 2\delta)}{4m^2(B_1^2 - B_2)}.$$

Remark 2.15. The result of Corollary 2.14 is obtained taking $\lambda = 0$ in Theorem 6 in [18].

Taking $\lambda = \frac{1}{2}$, Theorem 2.10 reduces to the corresponding result of H. Tang *et al.* [18].

Corollary 2.16. [18, Th. 2, p. 1070] Let the function $f(z)$, given by (1.1), be in the class $\mathcal{H}_{\Sigma,m}(\phi)$. Also let $\delta \in \mathbb{R}$. Then

$$|a_{2m+1} - \delta a_{m+1}^2| \leq \begin{cases} \frac{B_1}{2m + 1}, & \text{for } 0 \leq |h(\delta)| < \frac{1}{2(2m + 1)}, \\ 2B_1|h(\delta)|, & \text{for } |h(\delta)| \geq \frac{1}{2(2m + 1)}, \end{cases}$$

where

$$h(\delta) = \frac{B_1^2(m + 1 - 2\delta)}{2(m + 1)[(2m + 1)B_1^2 - 2(m + 1)B_2]}.$$

Taking $\lambda = 1$ in Theorem 2.10, we obtain the following corollary.

Corollary 2.17. Let the function $f(z)$, given by (1.1), be in the class $\mathcal{M}_{\Sigma,m}(1, \phi)$. Also let $\delta \in \mathbb{R}$. Then

$$|a_{2m+1} - \delta a_{m+1}^2| \leq \begin{cases} \frac{B_1}{2m(2m + 1)}, & \text{for } 0 \leq |h(\delta)| < \frac{1}{4m(2m + 1)}, \\ 2B_1|h(\delta)|, & \text{for } |h(\delta)| \geq \frac{1}{4m(2m + 1)}, \end{cases}$$

where

$$h(\delta) = \frac{B_1^2(m + 1 - 2\delta)}{4m^2(m + 1)[B_1^2 - (m + 1)B_2]}.$$

Remark 2.18. The result of Corollary 2.17 is obtained taking $\lambda = 1$ in Theorem 6 in [18].

References

- [1] A. Akgül, *A new general subclass of m -fold symmetric bi-univalent functions given by subordination*, Turk. J. Math. **43** (2019), no. 3, 1688–1698.
- [2] I. Aldawish, S.R. Swamy and B.A. Frasin, *A special family of m -fold symmetric bi-univalent functions satisfying subordination condition*, Fractal Fract. **6** (2022), no. 5, 271.
- [3] Ş. Altinkaya and S. Yalçın, *On a new subclass of bi-univalent functions satisfying subordinate conditions*, Acta Univ. Sapientiae Math. **7** (2015), no. 1, 5–14.
- [4] Ş. Altinkaya and S. Yalçın, *On some subclasses of m -fold symmetric bi-univalent functions*, Commun. Fac. Sci. Univ. Ank. Sér. A1 Math. Stat. **67** (2018), no. 1, 29–36.
- [5] W.G. Atshan and S.K. Kazim, *Coefficient estimates for some subclasses of bi-univalent functions related to m -fold symmetry*, J. Al-Qadisiyah Comput. Sci. Math. **11** (2019), no. 2, 81–86.
- [6] W.G. Atshan, S. Yalçın and R.A. Hadi, *Coefficient estimates for special subclasses of k -fold symmetric bi-univalent functions*, Math. Appl. **9** (2020), 83–90.
- [7] S. Bulut, *Coefficient estimates for a new subclass of m -fold symmetric analytic bi-univalent functions*, Commun. Fac. Sci. Univ. Ank. Sér. A1 Math. Stat. **68** (2019), no. 2, 1401–1410.
- [8] G. Dong, T. Huo, A. En and X. Liang-Peng, *Coefficient estimates for a class of m -fold symmetric bi-univalent function defined by subordination*, Commun. Math. Res. **35** (2019), no. 1, 57–64.
- [9] T.R.K. Kumar, S. Karthikeyan, S. Vijayakumar and G. Ganapathy, *Initial coefficient estimates for certain subclasses of m -fold symmetric bi-univalent functions*, Adv. Dyn. Syst. Appl. **16** (2021), no. 2, 789–800.
- [10] E. Mazi and Ş. Altinkaya, *On a new subclass of m -fold symmetric biunivalent functions equipped with subordinate conditions*, Khayyam J. Math. **4** (2018), no. 2, 187–197.
- [11] S.S. Miller and P.T. Mocanu, *Differential Subordinations: Theory and Applications*, Pure and Applied Mathematics No. 225, Marcel Dekker, New York, 2000.
- [12] A. Motamednezhad and S. Salehian, *Coefficient estimates for a general subclass of m -fold symmetric bi-univalent functions*, Tbilisi Math. J. **12** (2019), no. 2, 163–176.
- [13] A. Motamednezhad, S. Salehian and N. Magesh, *The Fekete-Szegő problems for a subclass of m -fold symmetric bi-univalent functions*, TWMS J. Appl. Eng. Math. **11** (2021), no. 2, 514–523.
- [14] Ch. Pommerenke, *On the coefficients of close-to-convex functions*, Michigan Math. J. **9** (1962), 259–269.
- [15] T.G. Shaba and A.B. Patil, *Coefficient estimates for certain subclasses of m -fold symmetric bi-univalent functions associated with pseudo-starlike functions*, Earthline J. Math. Sci. **6** (2021), no. 2, 209–223.
- [16] H.M. Srivastava and A.K. Wanas, *Initial Maclaurin coefficient bounds for new subclasses of analytic and m -fold symmetric bi-univalent functions defined by a linear combination*, Kyungpook Math. J. **59** (2019), 493–503.
- [17] S.R. Swamy, B.A. Frasin and I. Aldawish, *Fekete-Szegő functional problem for a special family of m -fold symmetric bi-univalent functions*, Mathematics **10** (2022), 1165.
- [18] H. Tang, H.M. Srivastava, S. Sivasubramanian and P. Gurusamy, *The Fekete-Szegő functional problems for some subclasses of m -fold symmetric bi-univalent functions*, J. Math. Inequal. **10** (2016), 1063–1092.
- [19] A.K. Wanas, *Bounds for initial Maclaurin coefficients for a new subclasses of analytic and m -fold symmetric bi-univalent functions*, TWMS J. Appl. Eng. Math. **10** (2020), no. 2, 305–311.
- [20] A.K. Wanas and A.H. Majeed, *Certain new subclasses of analytic and m -fold symmetric bi-univalent functions*, Appl. Math. E-Notes **18** (2018), 178–188.
- [21] A.K. Wanas and A.H. Majeed, *On subclasses of analytic and m -fold symmetric bi-univalent functions*, Iran. J. Math. Sci. Inf. **15** (2020), no. 2, 51–60.
- [22] A.K. Wanas and Á.O. Páll-Szabó, *Coefficient bounds for new subclasses of analytic and m -fold symmetric bi-univalent functions*, Stud. Univ. Babeş-Bolyai Math. **66** (2021), no. 4, 659–666.

-
- [23] A.K. Wanas and H. Tang, *Initial coefficient estimates for a classes of m -fold symmetric bi-univalent functions involving Mittag-Leffler function*, Math. Morav. **24** (2020), no. 2, 51–61.
- [24] A.K. Wanas and S. Yalçın, *Initial coefficient estimates for a new subclasses of analytic and m -fold symmetric bi-univalent functions*, Malaya J. Mate. **7** (2019), no. 3, 472–476.